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Instructions for the candidates :

. - Candidate must enter his / her
" Question Bcoklet

Serial No.
(10 Digits) in the OMR Answer
Sheet. :
Candidates are required to give the_ir'
answers in their own words as far
as practicable.

Figures in the right hand margin
indicate full marks.

15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

This question booklet is divided into

78 o YT & @’D@fﬁ?_'w-ar
Qa: gug-d/ . two sectiops — Section-A and
- Section-B.
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oo . - C e v '
& et 5 e gur & e 6 . In  Section-A, there are

o 35 o _”3;‘3. &HT IAv AT sfrard 70 objective type questions, out of
wrery S s w7 3?!'{ 2 v which any 35 questions are to be

35 #T g8 ot =t Y answered. If more than 35 guestions
T 1 .Gias‘ ﬁnﬁﬁﬁ 3 I ~are answered, then only first 35 will

be evaluated. Each question carries
1 mark. Darken the circle with blue/
black ball pen against the correct

: N omMR "
ﬁvﬁvwﬁﬁmﬁaﬁ?}r;ﬁ

option on OMR Answer Sheet
& eIy / aveT uaref / e/ . provided to you. Do not use
qrEgv a.m%- #T OMR 37 waw o | whitener / liquid / blade / nail
qahT WeET IET E?', i et.c. on OMR Answer Sheet,
T gRiEr . otherwise the result will be

gions 3AT=T g . invalid.

7. @UE - T W 20g g gy & 1 7. In Section - B, there are 20 short
feraoon F f?*—'r’Q' 2 HF reiia é‘, e answer type dquestions, | each
3 F ¥ 10 - Sar . carrying 2 marks, out of which any
. . . " 10 questions are t
E?' ) 7 g q _ | re to be answered.
aff-:-‘?. ard 5333 S . gus Apart from this, there are 6 long
6 & Feria v R T aAE F

; ’ _ answer type questions, each
o 5 A FrefRe 2, frd @ [l carrying 5 marks, out of which any

- g uAl &1 I gar sifard &1 | . .3 questions are to be answered.
8. ﬁ,’i‘ﬁ’ qahi & E'thﬁ%rﬁ JYHIT Bl 8. 'US‘:" of any electronic appliances is
e gt atTd g strictly prohibited.
FSEET‘ page 2 of 28 ————
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YUg - 3 / SECTION - A
Eﬂﬁ&l‘@' WY / Objoctive Type Questions

W GG 1 ® 70 9F & URE Wy & f1v ww Rrgen fio o §, faed @ T
W@ ¥ | o gRT S U W Rmed mr oMR e ww fafg @ | amaet
35 WYl & I I E | | 35 x 1 =35
Question Nos. 1 to 70 have Jour options, out of which only one is correct. You have

to mark your selected options on the OMR sheel. Only 35 questions are to be

- answered. 35%x1=35
1. Frefatad F S ot w9 @ 3R E
&) TE efaT | (B)  wrE afgm
(c) T sfeE © (D) wmdtEE
' Which of the following is the river basin of western India ?
: (A) -Mahi basin . (B}  Kosi basin |
(C) = Ganga basin | - (D) Son basin
2. |EQ TEEYl 9[g IEH & ¢ _
(a) TSR - | B FmIE
© T EEER - (D) ¥ HE
The most important jute producing region is
(A)  Ganga delta | (B)  Krishna delta
| (C)  Godavari delta ' (D)  None of these
3. GERGEd TeTSl €
(A) @deE H (B) . TR
() FREVEH - ' (D) efemm A '
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¥ Bababudan hill is in

@) Karnataka o | - (B) Goa
() Jharkhand (D) Odisha
4 e T2t § W e SiFen & o e ¢ ?
(A IS N B Bgu
(C€)  THEg (D) - ¥R@S
Which of the following states is famous for Gondwana coal ?
(A) Nagaland _ o (B) Tripura
(C) TamilNadu | (D)  Jharkhand
(A) R ) T
(C) i S | (D) , ST

. The most important factor influencing populétioﬁ distribution is
(A) Landform _ (B) Soi.l.
(C)  Natural vegetation (D)  Climate |
vl & - S R ¥ 7 |
e B O e
(C) = ugHor . (D),_ﬁ@mﬁ
Which pollution is caused by industrialisation ?-

A-ir pollution

(A) Water pollution. e (B)

{©)  Noise pollution : (D)  All of these

l 323 ] E @]-9004_E{35} Page 4 of 28




" (A) W‘FTW’T | B) TN |
7 2 ' g
(C) waaaﬁ (D) 3?3{

Handloom industry is

(A)  basic industry | (B)  cottage industry
(C) footloose induétry (D)  none of these
8. sﬁwﬁﬂmaﬁtwmﬁaﬁwﬁmﬁqﬁ%ﬂwmmmwg
) Ty mxemq (B U= %ﬂnmtr |
©) = B o ﬁﬁ@ﬁénﬁ |

Activities related to high degree and level of innovation are called

(A) Secondary activities (B) - Quinary activities

| (C}  Quaternary activities (D)

9. IWM AT H R F g AT FT & ?

none of these

ECRE | (B
© @ - D) TR
Which is thc' main source of irrigation in north Indjq ?
I{A) Canal '-:B) Tubewel]
- ([©  Ppond ) | (D)

None of thcsc
(3337
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-10.

11.

12.

et i i e o 0 T 7
{'A) e I . (B) = HAD
© < . ‘D) ferTe

Which of the following minerals is called ‘brown diamond’?

(A) Iron ore (B) Mica

+

(C) Manganese | (D) Lignite

Srrferfian ot 1 R S AT Sl e e € 2

(A) IRV - (B R

(C) e | | | (D) TR

In which of the following states Kaiga étomic power céntre is located ?
(A) Uttar Pradesh | (B) Maharashtra

(C) Karnataka (D) Gujarat

e T Haws & g T ° Rua €2

(A)  HeRT (B) ¥RTS

(C) T e | (D) TUETE

In which state is Bailadila iron ore region located ?

() ~ Maharashtra | (8)  Jharkhand

(C) Madhya Pradesh (D) Chhattisgarh

[ 323 | E [(B}-5004-Es) " Page 6 of 28



13.

Feger Hriet & et 3
(A) Ty R | - ® . gREE §
(Q). SUSU] | (p) wHRTE A
Kendujhar manganese region is located in
(A) Madhya Pradésh ' (B) Jharkhand
(C)  Odisha ' . (D) Chhattisgarh
4. Pt & B gt @ e A E 2 7
W e om et foeg
(©) R st - (D) ¢ @FFt AT
.'Which of the following is non-conventional source. of energy ?
&) Coal (B)  Hydel power
©)  Solar energy (D) Crude oil
15. 12011 %I SFFIUAT & 38R [&8R T ST gt o |
(“;.}. - 1126 = / ot Rt | (B) 1006 = / Tt feed
() goaaﬁﬁﬁ/aﬁfﬁﬁ (D) - _'.1106'65?‘?5/61‘[%1:&
As per 201 1' Censué ithe density of population of Biha;r was |
(A) 1126 persons/sq.km. "~ (B) 1006 persons/sq.km
.:.(C) : 906'persons/sq.km. (DJ 1106 persons/sq.km .
[ 323}._] E- [(B)-9004-E@s) Page 7 of 28




16.

17.

18.

(A) 1881

(B) 1901
(C) 1781 D) T A |
When was the first complete Census held in India ? |

(A) 1881 | ' (B) 1901

(C) 1781 | : .(D) None of these
2011 F TN F IFER WRA § FRT TR & |
(a)  31°16% | | | (B) 35-16'%

(c.) 36°16% - (D) 37'16%

As per 2011 Census the urban population in India is

| (A) 3I1-16% | i | (B) 3516%
(C) 36°16% (D) 3716%
S § @ TR A o VT T BRI 2
a) fooE | - (B) oHTEE
(C) HH 3R AR | (D)  forem

Which of the following is the main reason of male migration in India ?

(A) Marriage : (B} Business

'(C)  Work and employment (D) " Education

[ 323 ] E “B]-QOO4-E(35]I Page 8 of 2-3



19.

20.

21.

Perfeian Tl & e 0-6 o ot R B § 2

(A) g : ' . (B} PRI

(€ H (o) femre

‘Which of the following sta;tes Has the lowest sex ratio in the age-group of
0-6 years ?

(A} Haryana (B)  Gujarat

(C)  Punjab | : (D)  Himachal Pradesh

aouﬁmmésawﬁﬁ%?&aﬁﬁﬁ%ﬁmﬁaﬂwaﬁm

Faifyes & ? |
() ey B TR
(C) T D) A

Which of the following states has the highest proportion of urban population

according to 2011 Census ?

(A)  Tamil Nadu | . (B) Maharashtra
(©) Goa | (D) Kerala

fafaa &=t & gar ﬁﬁf‘rm T W@ FHRT ¥

(A) ST SREA | (B) W1 wEvTEl
(C) g AR o) e ST

* Main cause of soil degradation in irrigated areas is

(A) Gully erosion | (B)  Salinisation of soils

(C) Wind crosion : (D)  Siltation

[ 323 ] E l (B}'—9004-E(35}J | Page 9 of 28



22.

23.

24,

éduﬁmw%'awﬁmma%amﬁmmwg >
(A) ~ SO RN B) e

(C) & (D) — 31EH

As per 2011 Census which state has th¢ lowest density of population ?
(A) Arunach;ed Pradelsh (B)  Meghalaya

(C)  Kerala | _ | : (D)  Assam
2011 %1 VAT & SER FER FY sHder off

(A) 1041 I (B) -11'41&_@3
(C) 961 FIs | (D) 851 m
As per 2011 C&I‘.IS]-.IS. the‘.pOpulation of Bihar was

(A) 1041 crores (B)

1141 crores

(C) 961 crores (D) 8'51 crores

ﬁiﬂ%ﬁgﬂmﬁﬁﬁ@ﬁ?ﬂaﬁmmﬁ ?

(A) W W B) famr
(C)  uf¥em s ' (D) HERTZ

Which of the following states has the highest population ?

(A) Uttar Pradesh - (B) Bihar

(C)  West Bengal _ {D} Maharashtra

[ 323 ] E [[B)-9004-Eps) ~ Page 10 of 28




(&) FAH | B) Y
© R | (D) ( el Ud Gt @
Horticulture is related to
(&) Mower (B cereal
(C)  pulse (D) fruit and vegetable
- 26. WWﬁWWEﬁTH@W%
(A)  SYSHTICTRT UG | . B fgeesmEm
(C) =g FWEF | O R
The main cause of soil erosion in arid areas is
(A)  gully erosion ' (B) siltation
(C)© wind erosion 3 (D)  none of these
27, for e # fear w1 e WA A E 2
(A) T (B) .) g
() _ e | - (D)  ¥H 9 whig Tl

The ma.in s-ource of irrigation in South India is
(A)  canal | : (B)  tubewell

(C) tank _ : (D)  none of these

[ 323-] E [(B)-9004-E@3s) Page 11 of 28




28.

29.

30.

) IRwwE (B) ngmtgﬁ

(C) fmﬁ _ | [Dlw-ﬁ]—

Tarapur atomic power centre is located in

(A) - Uttar Pradesh | (B) . Maharashtra

(C)  Karnataka | ._ | (D) Gujare;t

T (ST i Y TR S) o1 geme W ¥ 2
@ fero C®

C &R - - (D) S

Where is the headquarters of OPEC ( Organisation of Petroleum Exporting
Countries ) ? .

(A) Vien_né (B)  Jakarta

(C) Hanoi . (D) Geneva

siier & T i wn i e S F e 2

(A) « TR B
© TR R
Village scttlcd .arou.nd a lakg will come under w_hich_ pattern ?
[f'j\.]- Réctangular ' (B) Radial
| .(D)' | Star

(C).  Circular

[ 323 | E [(B)-9004-E@s) . Page 12028




31. ﬁm%rﬁaﬁﬁﬁ:rwmr’fqaw% ?

@) SR | @) e
© s (D) THESH
Which of the following is a commercial city ?

h (A) Jerusalem : , N (B)  Pittsburgh

(C) Beijing - (D) Amsterdam

32. W Sfewies wnl Aear ¥
(A) IR e w5 T R B) I smiRer @) R §
(C) o 9 TR d D) ?ﬁﬁf@ﬁsqﬁ

- North Atlantic route connects

(&) North America with Europe (B)  North America with Africa
(C)  Europe W1th Asia.. (D)  None of these
33. ‘qfran&q'q‘rgm aﬁwﬁaﬁﬁﬁﬁwwﬁﬁmmmw o7 2
W fw | @) o
@ P | D) S

' _Which type of cultivation was devgloped by the EurOpeans‘ir; their colonies ?
" (A)  Milpa o (B)  Plantation farming

(C)  Mixed farming . (D) Viticulture -

[ 323’] E tB)—9004-E{35] | Page 13 of 28



34, W: FEAl S FN gy @

a) Measmad (B) \ Vqur HFHH

(€ THErR Fi ° D) wewR P &
Farming of citrus fruits is related to = -

(A) Mbﬁcd féfming : (B) Plantation farming
(C) Mediterranean agriculfure (D)  Co-operative farming

35. Frefafad § Q B iR # T E 2
(&)  HERT B e
(C) E?I%T'T | o | (D) UY |
Which of Ithf: following is the cabital of Australia ?
(A) Canberra (B)  Addis Ababa

(©) . Beijing D) Perth .

36, ‘GvEERE I SN § e Hew Y Heequl WA T 2

(A) Wi U<H | - ® e Tew

(©) - (A) T (B) | - () TR

Which cc:;mponent is con‘éidered as importaﬁt in the concept of Possibilism ?
(A) Natural éoinponent (B) Human component

(©) Both (A) and (B) (D)  None of these

[ 323 ] E [(B)-9004-Es)| Page 14 of 28



37, ﬁw%waﬂﬁw&ﬁﬁﬁmmﬁﬁﬁaﬁ?&%ﬂﬁ%mqﬁ% ?
(A R R (B)  gferor-ger ufer
() =Rer-ufRes suRk (D)  IW-TE I emifia
- Which of the following regions is not included in the denscly populated regions
of the worlg ?
. (A) Western Europe (B}  South-East Asia
(C) South-West Africa (D) North-East North America
38. _ﬁmﬁfﬁaﬁﬁﬁqu-@nwwwméwﬁrg? ’
(A)  ET-HET i arest o (B)  3TF oy
© W -we wt e g (D) it U e
Whlch one of the following is not a pull factor of human migration ?
: | (A) better living conditions | (B) Favourable chmate
- (Q) Poor living conditions o (D) Peace and stability
39.-'_ﬁa'ﬁa%mém#‘ﬂ=mwwm%? | |
W g T R ~ (B) WRA
© == | - D) e
Wﬂich country of the world has the highest population ?
(A)  Utiited States of America (B) India
© China (D)  Indonesia
40.  Frfffaa ©§ i whel S @ E |
() fafre i | B StFm
o JUur Bl (D) AR 3 Fy
"--—_._.________ . - -
[ 323 |E , [B}ﬂ9004-E{ﬂ’ - Page 150728



41.

42.

43.

which of the following is not monoculture ?

(A) Mixed farming ' ' (B) Dairy farming

(C) Plantation farming " (D) Commercial grain farming

frfefad o 19 90T wEA 6§ 2
(A) T | : (B) ﬁi

(C) T . (D) .

Which of the following is not a plantation crop ?

(A) Coffee (B) Wheat

(C) . Sugarcane ' (D) Rubber
ferga =i S-SR Hi 7w s &

A Ydasd (B) R & A

(©) trrqm_éa'ﬁ (D) 3OS ofgq o

Extensive commercial grain farming is not practised in

(A)  Prairies (B)  Steppes
(C)  Pampas - (D)  Amazon basin
g TS WY T HE §

(A) dﬁﬂ%ldl“élq\'{aﬂ | B) HITRIAT-HISAIY
c wewEfs (D) TR

The nuclcus.of the Hugli industrial region is
(A) Kolkata-Howrah ‘ (B) Kolkata-Medinipur

(C) . Kolkata-Rishra (D) Kolkata-Konnagar

[323]E -(31-9004-]3[351] Page 16 of 28



44,

45.

46.

Wﬁwﬁa’r?ﬂ&mmﬁa@ﬂm

(A) 1936

(C) 19239H.

(B) .

1911 &

(D) 1927H

The first radio programme in India was broadcast in

(A) 1936

(C) 1923

R 3T I g8

(A) » 1853 H

(C) 18631

- (B) 1911

Indian Railway was introduced in

(4} 1853

(é} 1 863

Fifer qee srafed ¥
(a) HARE H

- © Wﬁ 8

Kochi port is located in

(A) Karnataka

" (C) Kerala

(D) 1927
(B) 1753H
D) 17601
(B) 1753

-I[DJ 1760

B) aifewm o
(D) dfreErg A

(B)  Odisha

(D) ’famil Nadu

[323 ] E (B)-9004-Es)|
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47. -9 U R

(A), S TR0 B e i
() sfmER | (D) s e

Waterborne disease is

(A) respiratory infection (B)  conjunctivitis
() diarrhoca (D) bronchitis
48. i TR AT e ¥
@ TR B el
© doeE . D) ==

The megalopolis having the higheét popuiatipn is
(A) Mumbai L (B) Delhi

(C)  Kolkata (D)~ Chennai

49. gRmE! AfeH % faa € _
(A)  HicTHr H - (B') < s
©) Retd 0) T A FE T
Dharavi slﬁm is located in | |
(4) Kolkata | i | -(B]. | Munhlbaj

© Delhi ' o (D)  None of these

[ 323 ] E [(B)-9004-E@s) Page 18 of 28




ﬁ%ﬁﬁmaﬁ@wmﬁamfﬂww_%ﬁ@w

50.
g2
(A)  AHE JieE - (B) vt
L (© A ¥ e | \ (D) T AR
Which of the following is the most important factor ih the. interaction between
man and énx;ironment ? |
(A)  Human intelligence (B) ’i‘echnology
- (@ People’s perception (D). Human brotherhood
51 el s 3 frw g ) meet AT E 2
(A) l‘*‘ﬂ%ﬁ% UZh o - (B HMEE gee
o W@ D e el
| .Which component is considered important in tiaé qoncept of determinism ?
'(A} Natural component ' B) Humaf. component
. _fC.] : Both [A)l and (B) o (D)  None of these
52, Pt § @ v GHe @ 3 2
W o B W
© " D)
: Wh-ich of the fol]owling is not a plan‘éatibn crop “’
-l (A)  Coffee (B) Wheat
- (C}  Sugarcane (D) _ Rubber

a [ 323} E (B}-9004"E[35]J . Page 19 of 28 _




53. Frfefem & w9 i G ¥ 2

(A G | (B) MR
© L (D) + ¢ FE
Which of the following is a primary activity ?
" (A} Farming - (B) Trade
(C)  Wecaving. | ' (D)  Jute industry
54, W@ AR et €

(a) o= TRRER ® weig meErR 9

(B) - I TR ) afeeiifes TermR &
(@ e TR @ HhicHh TR |

(D) ©eT AR N e GFR

Suez Ca.ﬁa.l connects
‘ (A} Iﬁdiaﬁ ocean with”Paciﬁc ocean

(B)  Pacific ocean with Atlantic oéean.

‘(C} Atia.ntic ocean with Arctic ocean

(D) Red sea with Mediterranean sea

55. . ¥ QTSR 91 ST g o7 &

(a) sfewm H - B)  ufvad s o
(C) , HERTZ H : (D) TR o
Netaji Subhash Chandra Bose Internatioﬁal Airport is in

(A)  Odisha - (B) = West Bengal
(C)  Maharashtra , (D) Gujarat

[323 | E |LB)-9004-E[351 Page 20 of 28



56.

57.

58.

- (A) Farming

T & ek s T B ey s 2
(A) _Wﬁ]ﬁﬂ'{ | _ (B) g
© TaER o) ~@E

Village settled along a river will come under which pattern ?

(A)  Rectangular (B)  Radial
(€} Circular | . (D) Lineax;
ﬁfﬁ%ﬁaﬁﬁaﬁqwmﬁ%fﬁqaﬁﬂmmmﬁ ?
(A)  3TERYT I B) FIR @
'-(C)_ T JEh .{5,\@%%3@%

Which of {hc_ [ollowing produces raw material for other industries ?

(A) . Basic industry | (B)  Cottage mdusny
(C)  Footloose industry (D) | S_ma]l-sc.ale indu'st;:y
 foifera o S el Freee € 2
- '."(Al]' Rl | | . (B) =R
© T o e

Which of the following is a tertiary activity ?

(B) Trading

(©) Weaving (D)  Hunting

_ r§—2—§-_]__E @ Page 21 of 28 |



's0.  Ffian § W fcw e W Y 0

(A) TS AT (B e e

(€ = Wi (D) S AT

Which of the following is ﬁot a secondary activity ?

(A) Catching fish . . . (B) Iron smelting

(C) '_ Making garments . (D) Making basket

60.  ZFE-WEIEINR WIS HEHIT Sedl €

(A) PR @ Yo g @ (B) g I @ A
(C) TEHRA W TERT Y (D)  eife & FeE 4
The Tran_s—Contment'ai Stulart Highway connects

(A) Vancouver with St. John’s (B) Chengdu with Lhasa
(C) Edmonton with Anchorage .. (D) Darwin with Melbourne

61. UAMI FeX SArsdl & |

(A)  WRIRT HETHPR i f&s TR &
(B)  HeET GPR i Afdgent @ wel 9
(C) ¢ TRTT FRTETR i e HermR |
(D)  sreeiies TRER ) f TR
Panama canal connects .

(A) Pacific ocean with Indian ocean

(B) Caribbean sea with Gulf of Mexico
(C) Pacific ocean with Atlantic ocean

(D) Atlantic occan with Indian ocean

[ 323 ] E [(B)-9004-Ess) Page 22 of 28




62.

63.

64.

(Q) Comprehensive ports

fove & woE wst o ©

(A) AT 9T B T g
(C) ﬁ"\‘ﬁﬁqﬂ? D) efrenfirR e
Main seaports of the world are |
(A) Naval ports (B)  Oil ports
(D) Industrial ports

ﬁmﬁﬁ@ﬁﬂmﬂﬁﬁ%ﬂﬁﬁwwwaﬁﬁmwmﬁ ?

(A) TR (B) STRI 3THREH
(© g | (D)  3TRIHT

2

Which of the following continents has the maximum flow of global trade

(B) . North America

@ . Asia

(C)  Europe (D) Africa
o e s o o &

(a) TERTE F _ (B] FREs H
() e WeE A (D) .mﬁ‘

Noamundi iron ore region 1s located in
(A) Méharashtra (B) Jharkhand
(C) Madhya Pradesh (D) Chhattisgarh

-—
[_323 ] E @@ _ Page 23 of 28




65. Wﬁ%ﬁﬁﬁ%wg‘éﬁ
(A) ¢ 1950 % SIERH | (B)
(€ 1970 % WE H - (D)
Greeri revolution was starded in India in
(A)  1950’s (B

(C) 1970’ (D)

66.  ShieTehTal Uo- R €

(A)  FHARH | (B)

C) AN (D)-
Kolkata port is located in

(A) Karnataka

(C) Kerala

67. Frefehaa i & ¥ & ag S A E 2

(D)

(A) + FEHT GhRHUT (B)

(C) ATAER (D)

1960 % YR |

1980 % TTH H

1960’s

1980’s

afeem |

uf$ey s o

Odisha

West Bengal-

BENGL o

Which of the foliowing diseases is not airborne ?

(A) Respiratory infection " (B)

(C) Diarrhoea (D)

[323 ] E (B]-9004-E[351'

Conjunctivitis

Bronchitis

Page24ofon



68. HISICT % BT &1 T FaT Sy &
@A) R B wE
c femo D)
The coffee region of Brazil is Ca.lléd I

(A) Fazenda B Agenda

©  Milps - - (D) Ladang
69. . HUTAICT WIRATR Teheileh! UTeh ey &
(A) Tafewm & B) o

(C) HH ¥R H - D) afiferrg o
Manipal Software Technology Park is situated in
(A)  Sikkim (B) Karnataka -

(C) Andhra Pradesh (D)  Tamil Nadu

70, Tyefafag o gattus wgid A S 8 2
el (B) » TGTERY

(A)

(C) s (D) T

Which of the following is the most polluted river ?

(A) Ravi (B) Godavari

(C) Brahmaputra (D) Yamuna
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@UE - 9 / SECTION - B |
oY IAIT ITT / Short Answer Type Questions

mm1ﬁzoaq3ﬂﬁw% | Rt 10 Wyt % wee & | v & T 2 O
fraifte & |

10 X 2 =20
QUBSHOH Nos. 1 to 20 are Shor‘t Answer Type Answer any 10 questzons Each
questzon carries 2 marks. 10 x 2=20
TERTE o IR @ 6 FahT e & 7 o | | 2

Name four important centres of cotton textile industry of Maharashtra.

TUR | 379 T T € 2

2

What do you mean by communication ?
STl GHTOT WSl 7§ 2 2
What is watershéd'mahagement ? '
YA & IR T6- 3T SR T % 7 fetan | 2
Write the names of four iron ore producing states of India.
G e s R it | 2
Definc Human Geography. https://www bsebstudy.com

6. W T IR TG W H IR W HiAY | 2
Distinguish between birth rate and death rate.

7. W ANR T ?

- What is free trade ?
8. Wﬁaﬁﬁmmﬁ%ﬁwﬁwaﬁ%@ﬁﬁq |

Mention two reasons of declining child sex ratio in India..

9, %ﬁ-m%@wm%?

How is sex-ratio measured ?
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10.
11.
12.
13.
14.
15.
16.
17 |
18.

19..

20.

HEHR & SR T IAF I TR afﬁ‘?rq I
Classify industries on the basis of size.

IR & IR W@ afits sl & 7 sy |
Name four industrial regions oflhdia.

WRE ¥ uRee & J&T YT S ¢ 7

Which are the main means of transpértation in India ?
ﬁaﬂﬁmw,ﬁﬂwwﬁmwﬁaﬁmmaﬁ |
Distinguish between net sown area and gross sown a.rrea.'
T ygEvr ¥ TR Al H1 SeerE

Mention four sources of noise pollution.

Ffie TRT T E 2 |

What is Orient express ?

éﬂﬁmﬁ%nﬁwmaﬁ'l

Mention the importance of the Danube waterway.

WW#G’IW&H#&% 2.

Which are the two basic regions of human development ?
ETy AN ISEE T R W H

.Diifercntiaitc between immigration and emigration.

3@ farsrTs F1 € 2

Whaf is digital divide ? -

YRHREAE (e Far e ?

What is trans-continental railway ?
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24,

25.

26.

- guestion carries 5 marks.

f.qﬂfﬁn TRIIROT SR AR U 3 3R Hif | 5

Differentiate between nomadic herding and commercial livestock rearing.

o ST W / Long Answer Type Questions

Wﬂwzzﬁzeﬁdwﬁu% | forl i et & X € | uRe % foU
5 st FreiRa ¥ 1 . | 3x%x5=15

Question Nos. 21 to 26 are Long Answer Type, Answer any three questions. Each
3x5=15

AR AR o W7 e A7 &% He<el &7 auiT iy | 5
Describe the importance of Suez car;a_l route in iﬁternationaj trade.

fereprareiier <ell & e Sfal o aaere i foee Hivie |- 5
Discuss the problems of urban settlements in developing countries.

O H 4 o IR UE faavor &1 faerer € | 5
Give an account of production and distribution of paddy in Indla |

wmmaﬁ?ﬁﬁ%ﬁwﬁﬁqt " 5'_

Discuss the non-conventional sources of energy. - o _
YR &1 THEFET §920 HR Heafaiad & wEET S 5
(A) SELEN

(B)  Trmen

(C) AR

(D) EEE :

(E)  THST &I

Draw a map of India and show the following :

(A) Udaipur
(B)  Shimla
(C) Bhubaneshwar

(D) Hyderabad

. (E) Narmada river.
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